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Ch-2 Addition and Subtraction

Q1. Add the following:

i. 23014608 + 435670 + 23499 + 10 ii. 5300989 + 14400 + 123

Q2. Subtract the following and check your answer:

i. 58675377 - 1659088 1. 900000 — 435266

Q3. Simplify the following:

1 57252918 — 67215321 + 31119281




1. 93452129 + 32541119 — 41399187

iii. 10987653 — 883350 — 765321

Q4. Solve the following word problems:

I. In 2023, the population of Uttar Pradesh, Maharashtra and Bihar was 23,15,02,578: 12,49,04,071 and
12,85,00,364 respectively. What was the total population of the three states?

Ii. A company had a target to sell 5,85,900 toys but it could sell 4,99,729 toys only. Selling how many
toys fell short of target?




iii. Mr. Verma’s annual income is Rs 10,34,670 and his wife’s annual income is Rs 12,45,830. They
together saved Rs 4,53,876. How much did they spend in a year?

iv. The sum of two numbers is 4734452. One of the numbers is 1995651. Find the other number.

v. Mr. Dutta has Rs 1,65,72,550. He gave Rs 20,34,345 to his daughter and Rs 25,35,000 to his son. The
rest of the amount he saved in his bank account. How much did he saved in his bank account?




vi. Subtract the sum of 56,75,290 and 65,34,456 from 3 crores?

vi. A company manufactures 5,23,500 bolts on Monday and 3,24,800 bolts on Tuesday. Find the total
number of bolts manufactured on those two days

vii. A milk-dairy produces 25,545 litres of milk every day. It supplies 15,625 litres of milk to a milk-depot
and the rest to the market. How much milk is supplied to the market?




